special @

ZIA Training
Fixed Top Table

ASSEMBLY INSTRUCTIONS

TOOLS

Impact Drill #3 Phillips Bit

=

#3 Phillips Screwdriver

PARTS & HARDWARE LIST

5mm Hex Key

14mm Wrench

A B
Tabletop Top
Mounting Plate

(1 )

ZIAFEET STYLE: TorC

8E BB

C
Steel Columns
with mo?n)ting pins
2

\\\\\\\)\l\\\\\\\\\)\l\\\\\\\\\)\\\\\\\\\\\)\\\\\\\\\)\ﬂ‘I'

H
M8 Phillips Flat Head Bolts

)
W

| J
M6 Phillips Wood Screws
Flat Head Bolts
8) (16)

GLIDES OR CASTERS

| b=y

D D
T-Style C-Style
Long Foot
(4) 2)

D
C-Style
Short Foot
(2

L

E
Glides
(4)

(2EACH)

Locking Glides
Non-Locking Casters

sl
G K
Lock Caster
Washer Wrench
(4) (1)

ASSEMBLY STEPS

ﬂll"EOE:."m

© © ©

CORRECT
PLATE
DIRECTION

1. Lay the tabletop (A) upside
down on a piece of cardboard
or a carpeted surface.

2. Install (4) M6 flat head bolts
(I) through mounting plate (B)
into column (C).

3. Install (1) M8 flat head bolt (H)
through 5x8 mounting plates (B)
into steel columns (C).

FOR MISSING PARTS OR QUESTIONS, PLEASE CALL CUSTOMER SERVICE AT 888-705-0777.

888.705.0777

1

www.specialt.net



ZIA Training
Fixed Top Table

ASSEMBLY INSTRUCTIONS

4. Attach 5x8 mounting plates (B) onto the 6. Place (4) aluminum feet (D) onto pins (feet should be parallel
bottom of the table top (A) using (8) Phillips to the short edge of the table).

wood screws (J)
Additional Installation Note for C-Foot Variety Tables:

5. Ensure that all mounting pins are secure on Install longer aluminum feet on the USER side and shorter
the column. If necessary, use a 14mm wrench aluminum feet on the NON-USER side.
to tighten.

7. Tighten (4) aluminum (D) feet onto pins using the 5mm Hex Key.
(Mounting hardware comes pre-installed in foot.)

GLIDE INSTALLATION CASTER INSTALLATION

8. Attach (4) glides (E) to (4) aluminum feet (D) or
attach (4) casters (F) & (4) lock washers (G) to (4)
aluminum feet using included caster wrench (K).

9. Ensure both legs are fully attached to the
tabletop, and carefully flip over the table.

ZIA TRAINING TABLE | FIXED TOP | T-LEG | OPTIONAL CASTERS

S-T ZIA FIXED TOP TRAINING TABLE ASSEMBLY INSTRUCTIONS | 082023

888.705.0777 2 www.specialt.net



